(©RANKERS

JEE Main (2024 )

MEMORY BASED PAPER SOLUTION
29 JAN 2024 ( S-01)

Most Awaited
Scholarship Exam

RGP

RANKERS GURANTEED PROGRAM

@ Engineering (JEE) @ Medical (NEET) @ Foundatio

'IOO% FREE!




Most Awaited
Scholarship Exam

G

RANKERS GURANTEED PROGRAM

@ Engineering (JEE) @ Medical (NEET) @ Foundation

100% FREE!

/g

Register Now ©

—

| 4 Feb 2024
unday

.




CHEMISTRY



19. aCl2 + bOH-—— cCI~ + dCIO~ + eH20
Determine the value of (a + b + ¢ + d + e), if reaction is balanced with simplest integer coefficients
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M
20. [~ will oxidise to ........ in presence of\alkaline KMnO 4; O

(1) I (2) 104~ (3) IO- 105~
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21. Heating of KMnO4 produce: ( M ’
%MHO«;, MnO2, O2 (2) MnO2, K20, Oz (3) K2MnO4, O2, MNO  (4) MnO2, K20, O3
‘%ﬁ_—
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e
22. How many of the following is/are paramagnetic and have B.O = 17? O

Moleculeflon [ H:) o)
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23. Which of the following is incorrectly matched? @

(1) Cryolite — NasAlFs -~ i
A2) Fluorspar —BF3) X —2 @

(3) Fluorapatite — 3 Ca3s(POa4)2.CaF2,__~

(4) Carnalite — KCI.MgCl2.6H20
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24. Statement-l: The electrc?régativity values of group 14 elements decrease from Si to Pb. @
Statement-ll: Group 14 contains non-metals, metalloids and metals.
(1) Statement-| is incorrect & Statement-ll is correct.
(2) Statement-l is correct & Statement-ll is incorrect.
(3) Both Statements | & |l are incorrect.
(4) Both Statements | & |l are correct.
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25. In which of the following complex co form bridge between metal atoms ?

(1) Os3(CO)12 (/2‘)’ 02(CO)s (3) Rus(CO)12 (4) Mn2(CO)10
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26. In a period on going left to right lonisation energy decrease. @
In a period on moving left to right nuclear charge outweighs the shielding.
In light of above statement identify correct option.
(1) Both assertion and reason are true and reason is correct explanation of assertion.
%ssedion is wrong reason is true
(3) Assertion is true and reason is false. FO AT
(4) Both assertion & reason are false 0
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CHEMISTRY



1. For Rb(Z = 37) correct set of quantum numbers for last electron is : (M )

n I m S
M 4 0 1+
@ 3 1 1 P2
& 5 0 0  +12
@4 3 1 -+

MN > -4, & «g

L, .2 ¢ (
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P
2. How many of the following have one lone pair on central atoms? O
O3, SF4, XeF4, NF3, XeFs
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(Aﬁ’
3.  Given knet = -k-ll(iz-

3
When Eas = 40 KJ/mol, Eaz = 50 KJ/mol and Eaz = 60 KJ/mol. Calculate the value of (Ea)net in KJ/mol

S 20 |<J(vvn().
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4. Match the column:

Column-A

(a) Ziegler Natta catalyst (i) Rh
(b) Blood pigment (ii) Co
(c) Wilkinson catalyst (iii) Fe
(d) Vitamin B12 (iv) Ti

Caoprect answer is :

) a-(iv), b-(iii), c-(i), d-(ii)
(2) a-(iii), b-(i), c-(iv), d-(ii)
(3) a-(ii), b-(i), c-(iv), d-(iii)
(4) a-(i), b-(ii), c-(iii), d-(vi)

Column-B
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M
5.  Osmotic pressure of a solution at 273K is 2.73 x 105 bar, then osmotic pressure of same solution at O

283K is ><. (Nearest integer)
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M
6. If the percentage by weight of a solution (M.wt, 98 gm/mol) is 31.4% and density of the solution is 1.56 O

gm/cm?3 then the molarity of the solution is M.
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/. Among the following incorrect option is: @
(1) AG = (-)ve, spontaneous
’ #2) AG = (+)ve, spontaneous
(3) AG =0, equilibrium
(4) AG = (+)ve, nonspontaneous
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8. For decomposition of N204 at 300 K value of Kp = 0.246 atm @

N204(g) == 2NO2(g)
then value 0f_P_(£_i5 x10-2 [Nearest integer]
(Given R = 0,082 2mxLt
molexK
hh =1
Hv b 24*
Kr:’ chKT) R=o o824 ke = O b §14x 36>
_ ~ _
=300 K . 2 X
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ﬁ@é, H* ~ o

® 6 pe
9. @/\ 2) CrOa/H* .o {\)/\ '
| —= 7 v@/\
3) NH-NHz, KOH, A ~ [~ Z
Product P is
)
)
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N-NH:>
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g
GETSCHOLARSHIP | IEN3
© RANKERS OFFLINE CLASSES KNZLTTEY) FORNEW ADMISSION | GOOGLE FORM




A
: Y (major product) /J\” ( M >
10. \_\
e ~
' CCl K
— B (Major product) Oy
7 (g
Cl
& cl / cl
W07 X O QX
Cl Cl
Cl
cl Cl Cl
SO WA O
Cl Cl

ST FILL THE |
© RANKERS OFFLINE CLASSES KXY | FORNEWADMISSION | GOOGLE FORM




" OCH:CHs v )t
conc.HBr (excess) \/ / 4 Jé/l %
- > P | + ®-
CH=CH: cH=c M=CcH
Product P is: “ Hz "
OCH2CH3; OH o )
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M
12. What effect is observed in which Interaction occurs between n-bond & lone pair of electrons on adjacent O

atoms.
/(A’{rrlResonance (2) Hyper conjugate

(3) Inductive effect (4) Electronic effect
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13. Type of amino acid obtained on hydrolysis of proteins. @

) oo — Amino acid (2) y — Amino acid
(3) B — Amino acid (4) 5 — Amino acid
i ; )
o { M—cH—CHNH - -
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14, H Os > p (M>
zn/H20
H

the no. of oxygen atom per molecule in product P is.
\y/;lﬂ (2) 2 (3):3 (4) 4
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15. " How many of the following gives positive Fehling solution test. (M )
Acetic acid, Aniline, Acetaldehyde, Acetone, Ethanoylchloride, 2-Methylpropanaldehyde,
Crotonaldehyde, Benzanaldehyde, Benzene carboxamide, Ethyne.
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16. Arenium ion, which will not be formed in bromination of aniline. (M>

®
NH2 NH:2
/ H Br
(1) Br 2) H
®

A ;
NH: NH2
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& NA
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17. How many of the following have 'S' as heteroatom. (M>
Furan, Thiophene, Pyrrole, Cysteine, Tyrosine, Tryptophan
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M
18. Appearance of red colour on treatment with Na fusion extract of an organic compound with FeSO4 in O
presence of conc. H2SO4 indicate element?
(1)N (2) Br (3)S (4)N&S
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